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The booklet contains OMR sheet and having two
seals. Candidates will first open the bogklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed iwo minutes before the
commencement of the examination,

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), {b), (¢) and (d). The candidate will have
1o select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

lllustration:

1. Thesumof20and 12 is

{a) 32{)38(c)31(d)34

The Correct answer of item 1 is {a), which should be
marked in OMR Answer Sheet as under:

000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall,

Keep OMR Sheet straight. Do not fold it.

All questions are caompulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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The largest ecosystem of earth is

4. Biome

b. Hydrosphere
c. ii,ithosphere
d. Biosphere

The enlargement of auricles is represented by:
4. Enlargement of P-Wave

b. Depression of ST Segment

C. Enlargement of QR Statement

d. Elevation of ST segment

Variation in number of tandem repeats

between two or more individuals is called as:

@ Variable number of tandem repeats (VNTRs)

b. Restriction Fragment Length
Polymorphism (RFLP)

¢. Simple sequence repeats (SSRs)

d. Amplified Fragment Length
Polymorphism (AFLP)

Which of the following suitable statistical
test to measure variation in the wing
length of a moth species (Order
Lepidoptera) from five different
places would be:

a. F-test

b. Student t-test

¢. Chi square test

d

. Regression analysis

The half-life of a radioisotope is:
half the time taken for complete decay

b. half the time taken for half the decay
c. time taken for complete decay
d. time taken for half the decay

b

Image formation in electron microscope is
based on:

a.
b.
C.
d.

Column length
Electron number

Differential scattering
Specimen size
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Xerophytes generally do not possess:

a. A thick cuticle

b. Spongy Parenchyma
c. Specialized mechanical tissue
d. Well-developed conducting tissue

A group of populations of two or more
species occupying the same
geographical area at the same time is called

a. Ecosystem

b. Commensalism

c. Interaction

d. Community

The human genome contains approximately:
4. 6 billion base pairs

b. 5 billion base pairs
c. 3 billion base pairs
d. 4 billion base pairs

The first molecular biology server

EXPASY was in the year:
a. 1992

b. 1993
c. 1994
d. 1995

The term “invitro” is the Latin word
which refers to:

a. Within the lab

b. Within the glass
¢. Outside the lab
d

. Outside the glass

Which of the following is the first
completed and published gene sequence?

®X174

T4 phage

M13 phage
Lambda phage
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63. What is Ehe r}elirationship among DNA, a 63. Bty Wi affe PR & iy R ey g2
gene, and a chromosome? . TR & e} S Seeg
a. A chromosome containg hundreds of geries, . UP " ﬁ ; Gﬂ:{gﬁr %’ st il
which are composed of DNA_ EREGE _
b. A chromosome contains hundreds of genes, b. U URL ﬁﬁﬁ?ﬁﬁﬂ?{%’ﬁ %, o U g
which are composed of protein. EERC ¥
C. A gene contains hundreds of chromosomes, o . . .
which are composed of protein ¢ TH ST I TURE B1 &, ST Oy Y
d. A gene is composed of DNA, but there is . B
no relationship to a chromosome. d. TH ST Y &7 BT 2, afpg T
U BIS ey TEY g 3 |
|
64. In eukaryotes and bacteria, the most 64. U@Kﬁzﬁzﬁ 3R Sy T ang o ISR f
common form of regulation is: M =g %: |
a, promoter control a. ﬂIﬁET ﬁ'qﬁ'UT
b. translation control b, 3gdrg iz
C. repressor control ¢ THIPRT iy
d. transcriptional control d cNibhwEMg Herd
65. As the polymerase reaches the end of 65. ﬁw%lﬂ?ﬁnﬁa & 3T IF
RNA which of the following event Ugaar g, Refif@a I B ge
does not oceur as a response? ulafbar & =y BEERIES,
4. Transfer of Polyadenylation enzyme a m@w Q\_THETI' BT R
b. Cleavage of the RNA b. 3RUT & xR
Z. ?ddﬂ.ml;.‘)f p(;le at ?hf- 3’ end ¢. 3RRUTTY % A BT -
- lermination of transcription .
d. S 3} yarey
66. Mark the signal molecule which does not 66. TRrve 3 B! forfgd &% &) I Tdg
interact with cell surface receptor. & 1Y Sl T8 BRAT R
4. Tnsulin 2. $GRM
b, Glucagoen _ b. THIH !
€. Testosterone ¢. SRS
d. Gastrin d ﬁ@?
67. In Insects, the complete metamorphosis is 67. Bl o E{Uf PR HEarT g
called as: o Waw
a. Holometablous
b. Hemimetabolous b. gHideT) T
¢. Ametabolous c. THCTEIeY
d. Paurometabolous d. dlélﬁaxa’la N
68. \lz_thIich o}f the follt(‘)}\;ving f;m 1s used for 68. PofefRga B o m F
the larval stage of house y: wwa;%qmmw%
a. Looper 2. TR
b. Grub b. g
c. Semilooper c. %]:ﬂqqq
d. Maggot d iy
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70.

71.

72.

73.

74.

If the blood group of an individual is A
then the antibody present is:

a. Anti B antibodies
b. Anti A antibodies
c. Anti O antibodies
d.

Anti OA antibodies -

Unhealthy growth of tissue due to higher
pressures on the walls of the artery is termed as

a. atheroma

b. aroma

¢. adenoma

d. aroma and adenoma

The respiration mechanism of an organism
mainly depends on which of the following?

& Survival instincts
b. Habitats

c. Levels of situation
d. Habits

Smooth muscles, cardiac muscles and organs
are regulated by:

a. Central nervous system

b. Parasympathetic nervous system

c. Sympathetic nervous system

d. Autonomic system

One of the actions of the parasympathetic
nervous system is

a. Inhibits peristalsis

b. Constriction of Pupils
c. Dilates Bronchioles
d. Sweat secretion

Which of the following is not a process of
urine formation?

Glomerular filtration
Reabsorption
Secretion

/e o oo

Excretion
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75. What is the standard free energy change
of ATP?

a. Small and negative
b. Large and positive
c. Large and negative
d. Small and positive

~ 76. In glycolysis, fructose 1,6-bisphosphate is
converted to two products with a
standard free-energy change (AG") of
23.8 kl/mol. Under what conditions
encountered in a normal cell will the
free-energy change (AG) be negative,
enabling the reaction to proceed
spontaneously to the right?

8. Under standard conditions, enough energy
is released to drive the reaction to the right.

The reaction will not go to the right
spontaneously under any conditions
because the A G"™ is positive.

©“ The reaction will proceed
spontaneously to the right if there is a
high concentration of products
relative to the concentration of
fructose 1,6-bisphosphate.

The reaction will proceed
spontaneously to the right if there is a
high concentration of fructose 1,6-
bisphosphate  relative  to  the
concentration of products.

77. Biological oxidation-reduction reactions

always involve;

& Direct  participation

. formation of water.
Mitochondria.
- transfer of electron(s).

of oxygen.

b
C.
d

78.

As per Whittakar’s classification, which
of the following is not a Kingdom name:

Bacteria
Fungi
Plantae
Animalia

P ooop
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79. Homologous describes: 79. TFSIIRT GO Bl &

a. Same structure/different function A G I/ AT B
b. Same function/different structure b, o P / i S
c. Similar to analogous c. AIEY % T

d. Same structure/same function o d GHFEREA/AEA 0]

80. If two species uses the same resources 80. il yreTerat TH el 91 ST ST
then they are said to compete and ga I gl 3= & fore el SR 2
their interacti_on is known as: B R EARSIREIR] F ] ol %:

a. Composition a. Tl

b. Genera b, TR

c. Transformation e, qﬂﬂ?ﬁ
d. Competition 4. giagfeT

81. During which stage of mitosis, the spindle 81. THRAUI ! g g | ‘gxﬁ G| CECH
f}?rrs; e;rsz ’Ifrci;rsr?ed and get attached to the R w 3 9e IC %
a. Metaphase a. TeThl
b. Anapphase b. QT@P_\‘T
c. Prophase . ¢ Uhw
d. Telophase d. TEea

82. Ribosomes are formed of : 82. ZaH CEGEE
2. DNA and RNA 2. BT IR ARTTY
b. RNA and Protein b, SRTTY AR WEN
C. DNA and Protein c. SIEY AR UEH
d. RNA and Amino Acid d. 3RUT 3R i ufire

83. 95% transgenic animals are: 83. 95% @WW g
a. Sheep a. 4
b. Rabbits b TR
c. Pigs c. g3R
d. Mice d. %l%

84. ELISA techniques have been combined 84. TR qE-Ib! Dl AR & 1Y e
with biosensors to form: ' G it RIE) 55’;

a. Calorimetric biosensor a. pARMCH AR
b. Piezo-electric biosensor b. W—%@%E@W
c. Immunosensor c. TEEANTR

d. Potentiometric biosensor 4. UieREmice TN

18




85. Niche Density is: 85. STE U1 &:

2. Extinction of species in a new habitat T TP 3Ma ﬁ o ”Eldi.?ﬂ ﬁ@ﬂm
b. A new emerging population of species in b, T UGN § yeiifagf T -8 IUR!
in a new habitat 3T

¢ The abundance of a population of species C. U A & STER USTIRIGT T Saret a8
outside its habitat -

d. The abundance of a population of species .
within its habitat | d. 3O ST S iR v @) arrare
‘ 1 IR
86. Which of the following is not a type of 86. N T B RNA UG F1 U UHR
RNA processing? EEil —gfr;

R Polyadenylation

8. Polyadenylation at the 3’ end a.
b.  Capping of 5’ end b. 5 R &} BT
C. - Removal of exong c. WHHIT B BT
d. Splicing d. faaf
87. The following set of RNA is required in 87. REU & FruferEa Se &) SATE Highan o
the translation process except one, :
mark the INCORRECT? U D1 BIEHR A 8, T 1l
2. SiRNA & T $REY
b. rRNA . b. SRIYRTY
c.. mRNA . TUHSIRUY
d. tRNA d. RET
88. The natural residence of every organism 88. TIFH GG FHT UTBTdes M1 ST g
is known as: a. SO
a. Biome b, 37
b. Niche c. amaq
c. Habit
d. 39y
d. Habitat _
89. Water reabsorption by the kidneys is a 89. gah GRSl Yafaeiyur &7 Ry g
result of -
a. Both passive and active transport processes. a. ‘q"’Fﬁ fAfepyg Gﬂ‘{ Wqﬁﬁ‘a’:{ Eﬂ?’?&]ﬁ]
b. Cotransport with ions. b. Al H Y Ie-ufvag|

¢. Exchange with ions. c. Al 1Y 3
d. Osmosis. d. C’rﬁ'ﬁﬂﬁlﬂ I

90. Which of the following requires maximum 90. Fofafea g an gy &l &
energy? STaRYHH] gl g2
a. Secondary consumer & WeEle Iy
b. Decomposer b. SIHUSR
C. Primary consumer . ¢ UIYihe IuHlEEr
d d

- Primary producer . UIYHS Iaes
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All species of Lemur are endemic to which arca?

a. Madagascar
b. SeychellesIsland

¢. Galapagos Island

d. New Caledonia

Why is sodium actively reabsorbed in the
nephron?

a. To decrease osmolarity inside the nephron

b. To make urine less concentrated

¢. To increase passive reabsorption of water
d. To decrease blood pressure

What determines the differences between

the progeny and parents?
4. Inheritance

b. Hernitage

C. Genetics

d. Variation

A child is born to a mother whose blood
group is A and a father whose blood
group is B. The child is of blood

group A. According to this which of
the following is true?

The mother has Bombay blood group
The child’s father is some other man
This is a normal case

The child has genotype I/ I*

a oo p

Paramecium 18
a. Bacterium
b. Protozoan
c. Virus

d. Annelid

Which of the following is an artificial
ecosystem created by humans?

&

Grassland ecosystem

b. Agroecosystem
c. Ecosystem of artificial lakes and dams
d

. Forest ecosystem

91.

92.

93.

94.

95.

96.

20

AR ) el vrear ferwy &= TS Sl 87
TSRS

A 4

TemariE Y

I pasiAr

iz Al § 9ipy T A gH: SRt

I gl 82

a. BT P 3iex TR B HH B & (oY
b. T3 B B Hisd B & T

c. T ¥ FifSpy grafa=iyl & 9gH & fau
d. JFTAY B HH B P [01g

Tar 3R Hia-fue o a SR
i sar g?
a. ford
. faoa
TR
fafRean

S

b
c.
d.

TS §5) Bl o TS Tf U g3 § ForueT T
T A 2 3R T T R8s o 9g B 8
oI G T A BT 8| TP SR i
HA PN I

Ol w18 18 g4
aé{mﬁmﬁéahwnaﬂ g
Tg T I HIAET 8

TR FTOAERI I 1t §

Paramecium%
a. e
b. Protozoan
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97. Among the ten different biogeographical
zones in India, which zone is the largest
biogeographical region
a. Himalayas
b. Desert
C. Semi-arid
d. Deccan platean

98. In the following diagram, 1dentify the

component of the cell membrane.

i,
i

Hydrophilic phosphate head
Hydrophobic phosphate tajl
Hydrophilic linid tail
Hydrophobic lipid head

Ao oo p

99.
50 million years ago

200 million years ago.
400 million years ago

~ 6 op

500 million years ago.

100. The specificity of an antibody is due to
Its valence
The heavy chains

The Fc portion of the molecule

The variable portion of the heavy and
light chain

IR LA =

When did mammals evolve on the Earth?
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